SHERWOOD SS 68 FITTING

MACHINERY PTY. LTD. aB.N.14 003931557 INSTRUCTIONS
FERNDALE RD., (P.O. BOX 6)
BUNDANOON N.S.W. 2578

THIS ROLL-OVER TRACTOR
SAFETY FRAME HAS BEEN
DESIGNED AND TESTED TO AS
1636-1984 AND IS TO BE USED
ONLY AS A ROLL-OVER
PROTECTIVE STRUCTURE AND

SS 68 BOLT KIT FOR KUBOTA TRACTORS N e NOT B R OF
QUANTITY [DIMENSION LENGTH ETC. ESE MODIFICATIONS.
2X 5/8" X 5 UNC GRADE 8 BOLTS AT ADVERSELY AFFECTITS
2 X 5/8" X UNC GRADE 8 NUTS PO
2 X 5/8" X SPRING WASHERS
4X 5/8" X FLAT WASHERS




